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AGRICULTURE
Paper 1
Time : 3 Hours Maximum Marks ;150
Note — Attempt five questions in all. Question No. 1

is compulsory. All questions carry equal

marks.
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1. (@) Give classification of agro-climatic zones of
India. = ‘ 15
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(I;?); Classify Indian soils 'based on modern
concepts. | 15
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Define sustainable agriculture. What are the criteria of
sustainability in agriculture ? Describe important

management practices followed for sustainable

agriculture. 30
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(a) Enlist important methods of weed control.
. Describe bioclogical weed control wit}}r suitable

examples. . 15
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() What is the role of Agricultural Technology
Management Agency (ATMA) as a converging
~agency for agricultural development in the

district ? - 15
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Write package of produ;::tion techn_ologies of any three

of the following crops : | _ 3x10=30

- (@ Soybean

- b) Sorghum
'(c_') Greengram
() 7 Bt-cotton
(e) Maize.
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Differentiate and elaborate the following :

"(_a)

©®)

(o) .

(@)

(e) -

6x5=30

Saline soils and salinesalkali soils

Relative and obnoxious weeds

Group discussion and Buzz session

- Organic fertilizers and inorganic fertilizers

Cropping system and cropping pattern

Irrigation efficiency and water-use efficiency.
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What are the factors influencing secil erosion ? Classify
and discuss various types of erosion. Describe agronomic

™

measures to control soil erosion. 30
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Answer any six of the following : 6x5=30

(@)

®)

(c)

@

(e)

@

()

What do you mean by integrated farming
system ? Give benefits of integrated farming

system.

How is a new technology assessed and

refined ?
Classify drought according to its duration.
Give use of farm planning and budgeting.

Global warming and its impact on agricultural '

production. -

Discuss the nitrogen losses from waterlogged

-

soil.

Discuss use of remote sensing in agriculture.

What are major problems of Indian agricultural

marketing ? Discuss.
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Answer the foliowing (Multiple Choice Questions) :

15x2=30

(1) Type of radiation useful in remote sensing

IS ceiieeniicnann.

(@) Diffused radiation
b) Direct radiétion
(c) Reflected radiation

(d) None of the above
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The duration of photoperiod of short day plant

(@) < 10 hrs
®) 12-14 hrs
((;) > 14 hrs
(d) None of the above

The lowest layer of atmosphere is .............

{a) Troposphere

) Stratosphere

(©) Mesosphere

@ Thermosphere

| 2464 4 38
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Which of the following is contact, non-selective and

zero persistent herbiqide in soil ?
(@) Fluchloralin

&) 2, 4-D

(e) Atrazine

(D) Paraquat

The optimal range of temperature for germination

¥,
of wheat and for its vegetative growth is

(a) 21.to: 25°C

®) 15 to 20°C

(c) 10 to 14°C

@) 26 to 30°C
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()] Water in soil above field capacify is termed

as

(@) Hygroscopic water

(b_) Capillary water

{(c) - Gravitational water

(@ None of the above
(7) Which of the following is a bienﬁial weed ?

(a) Cirsium vulga):e

b) Chenopodium spp.

(¢) - Cyperus esculentus

@ Cynodon dactylon
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( 12 ) Agri-1
Irrigation requirement (IR) can be obtained by :

(a) IR = Water Requirement

(o)) IR = Water Requirement — (Effective rainfall

+ Contribution from groundwater table)
(c) IR = Water Requirement + Effective rainfall

(d) - IR = Effective rainfall — (Water Requirement

+ Contribution from groundwater table)

Which one of the following strain of rhizobium is

x

used in soybean for seed treatment ?

(a) R. japonicum

“®) R. trifolii

() R. meliloti

(oA R. leguminoserum
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Which nutrient is essential for symbiotic and non-

symbiotic mitrogen fixation ?

@) Boron
b) Zinc
(c) Iron

(-d ) Molybdenum

TRYSEM (Training of Rural Youth for Self

Employment) was  started on
(a) 15 August, 1979

b) 20 July, 1979

© 15 August, 1978

) 20 July, 1978
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The term transact walk is related to ...............
(a) Frontline demonétration

b) National demonstration.

(c) Participatory rural éppraisal

(d) Rapid rural appraisal

Method demonstration is used to show -

(a) The technique of doing things or carrying

out new practices
b) Refine in technology

(e) ‘How production can be increased

(d) None of the above
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(14) Which of the following does not apply to SRI method

of rice cultivation ?7-

(@) Reduced water application

b) Reduced plant density

() Reduced age of seedling

(d) Increased fertilizelf application

(15) Which one of the foilowing nutrient is not a

constituent of chlorophyll but helps in chlorophyll

™

formation ?

(@) Phosphorus
- (b) Magnesium

(c) - Sulphur

(@) Nitrogen
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